TR « WMEHpLE ZFR

WEMER
G i gﬂ C = = n
[pec] £t AKEE EBENE B | AN
‘ Q:\\< BH 15ER | GB/T307'1 0% | ZZ(WEHHAZ) | GCri5 | SuJ2
e
r
r
r r
oo +-—+ & -1 3
B
1Kgf=9.81N
R o EFgang | aukm ZERT R
. o | BFE | d D B ; Cr(@l) | Cor(8) rpm db da r (9)
e | WERS (min) | "N KN &) [min) [ (max) | (max) | (max) | &=
670027 15 Z 0.2 0.85 | 043 15000 10.4 | 11.21 | 142 | 02 2
680027 19 5 1.83 | 0.925 34000 12.5 17 5
690027 0 22 6 0.3 2.7 1.27 32000 12 13 20 0.3 9
600027 26 8 4.55 1.96 30000 135 | 24 19
620027 30 9 06 5.1 2.39 24000 1 16 26 06 32
630027 35 11 : 8.1 3.45 21000 165 | 31 : 52
670122 18 7 0.2 0.92 | 053 13000 12.4 | 13.86 | 16.7 | 02 3
680122 21 5 1.92 1.04 32000 14.5 19 6
690122 1o 24 6 0.3 2.89 1.46 30000 14 15 22 03 1
600122 28 8 5.1 2.39 27000 16 26 21
620127 32 10 0.6 6.1 2.75 22000 16 17 28 06 37
630122 37 12 1.0 9.7 2.2 19000 17 18 32 1.0 60
670227 21 2 0.2 0.93 | 0.58 10000 15.4 | 16.86 | 19.7 | 0.2 4
680227 24 5 2.08 1.26 27000 175 |22 7
690227 15 |28 7 0.3 365 | 2 26000 17 : 26 0.3 16
600227 32 9 5.6 2.83 23000 19 30 30
620227 35 11 0.6 7.75 | 3.6 19000 19 | 20 31 06 45
630227 42 13 1.0 | _11.4 5.45 17000 20 | 225 | 37 1.0 83
670327 23 2 0.2 1 0.65 9500 17.4 | 18.86 | 21.1 | 0.2 4
680322 26 5 2.23 1.46 25000 19.5 | 24 8
690327 47 |30 7 0.3 4.65 | 2.58 23000 19 [ 20 28 03 18
600327 35 10 6.8 3.35 20000 21 33 39
620327 40 12 0.6 9.6 4.6 17000 21 23 36 06 66
630322 47 14 1.0 | _13.6 6.65 15000 22 | 255 | 42 1.0 113
670427 27 2 0.2 1.4 0.72 8500 204 | 22.36 | 255 | 0.2 6 =1
680427 32 7 03 4 2.47 20000 0y | 225 | 30 03 19 2
690427 20 |37 9 : 6.4 3.7 19000 24 35 : 36 "
600427 42 12 0.6 9.4 5.05 17000 24| 26 38 06 69
BH 620427 £ 47 14 1.0 | 12.8 6.65 14000 25 | 28 42 10 106 &
630427 52 15 11 | 15.9 7.9 13000 265 | 28 455 : 145 25
680527 37 7 0.3 43 2.95 18000 0 |28 35 03 22
690527 42 9 ; 7.05 | 4.55 16000 29 40 § 42
600527 25 [ 47 12 0.6 | 10.1 5.85 15000 29 | 305 | 43 06 80
820522 52 15 1.0 | 14 7.85 12000 30 |32 47 10 128
630527 62 17 11 | 206 1.2 11000 315 | 36 555 : 235
680627 42 7 0.3 47 3.65 15000 4 |33 40 03 26
690622 47 9 : 725 | 5 14000 34 5 : 8
600627 30 [ 55 13 1o 8.2 83 12000 w5 |37 50 116
620622 62 16 : 19.5 1.3 10000 39 57 1.0 199
630627 72 19 11 | 26.7 15 9200 365 | 425 | 655 345
680722 47 7 0.3 4.9 4.05 13000 37 |38 5 03 29
690727 55 10 0.6 9.55 | 6.85 12000 39 | 40 51 0.6 74
600722 35 [ 62 14 1.0 | 16 10.3 11000 20 | 42 57 0 155
620722 72 17 11 | 257 15.3 9000 215 | 45 65.5 2 288
630722 80 | 21 1.5 | 335 19.2 8400 3 | 47 72 15 469
680827 52 7 0.3 5.1 4.4 12000 42 | 43 50 03 33
690827 62 12 0.6 | 122 8.9 11000 44 | 45 58 0.6 110
600827 40 [ 68 15 1.0 | 16.8 1.5 9500 45 | 47 63 10 190
620827 80 18 11 | 29.1 17.8 8200 465 | 51 735 : 366
630822 90 | 23 1.5 | 405 | 24 7500 48 | 53 82 15 636
680977 58 7 0.3 6.18 | 5.38 11000 47 [ 475 | 56 0.3 38
690927 68 12 0.6 | 14.1 10.8 9500 29 [ 50 64 0.6 126
600977 45 [ 75 16 1.0 | 20.9 15.2 8800 50 | 535 | 70 10 241
620927 85 19 11 | 315 | 204 7500 515 | 55,5 | 785 : 420
630927 100 | 25 1.5 | 53 32 6700 53 [ 615 | 92 15 829
681022 65 7 0.3 6.6 6.09 9500 52 | 525 | 63 03 50
691027 72 12 0.6 | 145 1.7 9000 54 | 55 68 0.6 135
601022 50 |80 16 1.0 | _21.8 16.6 8300 550 | 575 | 75 10 261
621027 90 | 20 11 | 35 23.2 7000 56.5 | 60 835 : 454
631022 110 | 27 2.0 | 62 38 6000 59 | 68 101 2.0 | 1006

P1132



RS TRER R « WEHpLE ZFR

e EARTEANR RERY
ool | can | comm | Frome i d r 5
& N = /2 337 7l : ri or(g a g
KD WERRS | &R (min)| Cr@ o S5 | iy | maxy | omey | | 62
681122 72 9] 0.3 8.8 8.5 8500 57 59 70 0.3 81
6911272 80| 13 | 1 16 13.3 8000 60 61.5 75 1 189
6011Z2Z 55 90 | 18 | 1.1 28.3 21.2 7500 61.5 64 83.5 381
6211ZZ 100 | 21 1.5 43.5 29.3 6300 63 66.5 92 1.5 619
631122 120 | 29 | 2 71.5 44.5 5600 64 72.5 | 111 2 1370
6812727 78 | 10 | 0.3 11.5 10.9 8000 62 64 76 0.3 103
6912727 85|13 | 1 19.4 16.3 7500 65 66 80 1 192
6012722 60 95| 18 | 1.1 29.5 23.2 7100 66.5 69 88.5 412
6212727 110 | 22 | 1.5 52.5 36 5600 68 74.5 | 102 1.5 783
6312722 130 | 31 | 21 82 52 5300 71 79 119 2 1720
681322 85| 10 | 0.6 11.9 12.1 7500 69 69 81 0.6 128
691322 90 | 13 | 1 17.4 16.1 7100 70 71.5 85 1 218
601322 65| 100 | 18 | 1.1 30.5 25.2 6700 71.5 73 93.5 439
6213Z2Z 120 | 23 | 1.5 57.5 40 5300 73 80 112 1.5 1000
631322 140 | 33 | 2.1 92.5 60 4800 76 85.5 | 129 2 2110
6814ZZ 90 | 10 | 0.6 12.1 12.7 6700 74 74.5 86 0.6 134
6914727 100 | 16 | 1 23.7 21.2 6300 75 77.5 95 1 349
601422 700 110 | 20 | 1.1 38 31 6000 76.5 80.5 | 103.5 608
6214727 125 |1 24 | 1.5 62 44 5000 78 84 117 1.5 1090
631422 150 | 35 | 2.1 104 68 4500 81 92 139 2 2570
6815Z2Z 95| 10 | 0.6 12.5 13.9 6300 79 79.5 91 0.6 149
691522 105 | 16 | 1 24.4 22.6 6000 80 82 100 1 364
6015Z2Z 750 115 20 | 1.1 39.5 33.5 5600 81.5 85.5 | 108.5 649
621527 130 | 25 | 1.5 66 49.5 4800 83 90 122 1.5 1190
6315Z2Z 160 | 37 | 2.1 113 77 4300 86 98.5 | 149 2 3080
6816ZZ 100 | 10 | 0.6 12.7 14.5 6000 84 84.5 96 0.6 151
6916ZZ 110 | 16 | 1 25 24 5600 85 87.5 | 105 1 391
6016ZZ 80| 125 | 22 | 11 47.5 40 5300 86.5 91 118.5 872
6216ZZ 140 | 26 | 2 72.5 53 4500 89 95.5 | 131 2 1420
6316ZZ 170 | 39 | 21 123 86.5 4000 91 104.5 | 159 3670
6817ZZ 110 | 13 | 1 18.7 20 5600 90 90.5 | 105 263
6917272 120 | 18 1.1 32 29.6 5300 915 94.5 | 113.5 1 550
BH 6017ZZ E 85| 130 | 22 ) 49.5 43 5000 . 96 123.5 918
6217272 150 | 28 | 2 84 62 4300 94 102 141 2 1760
6317ZZ 180 | 41 3 133 97 3800 98 110.5 | 167 2.5 4280
6818Z2Z 115 | 13 | 1 19 21 5300 95 95.5 | 110 1 276
691822 125 | 18 | 1.1 5 31.5 5000 96.5 98.5 | 118.5 585
6018Z2Z 90| 140 | 24 | 1.5 58 50 4800 98 103 132 1.5 1190
621822 160 | 30 | 2 96 71.5 4000 99 107.5 | 151 2 2180
6318Z2Z 190 | 43 | 3 143 107 3600 103 117 177 2.5 4980
681927 120 | 183 | 1 19.3 22 5000 100 101.5 | 115 1 297
691927 130 | 18 | 11 33.5 33.5 4800 101.5 | 103.5 | 123.5 601
6019272 95| 145 | 24 | 1.5 60.5 54 4500 103 108.5 | 137 1.5 1230
621927 170 | 32 | 21 109 82 3800 106 114 159 2 2640
6319272 200 | 45 | 38 153 119 3000 108 123.5 | 187 2.5 5760
6820Z2Z 125 13 | 1 19.6 23 4800 105 105.5 | 120 1 310
6920272 100 140 | 20 | 1.1 43 42 4500 106.5 | 111 133.5 828
6020ZZ 150 | 24 | 1.5 60 54 4300 108 112.5 | 142 1.5 1290
6220272 180 | 34 | 21 122 93 3600 111 121.5 | 169 2 3170
6821727 130 | 13 | 1 19.8 23.9 4800 110 110.5 | 125 1 324
6921272 145 20 | 11 42.5 42 4300 111.5 116 138.5 856
602122 105| 160 | 26 | 2 72.5 66 4000 114 120 151 P 1580
62217272 190 | 36 | 2.1 133 105 3400 116 127.5 | 179 3790
632122 225 |1 49 | 3 184 154 2600 118 138 212 2.5 8090
682277 140 | 16 | 1 28.1 32.5 4300 115 117 135 1 497
692277 110 150 | 20 | 1.1 43.5 44.5 116.5 121 143.5 893
6022727 170 | 28 | 2 85 73 3800 119 124.5 | 161 2 1940
622277 200 | 38 | 2.1 144 117 2800 121 134 189 4450
682477 150 | 16 | 1 28.9 35.5 4000 125 127 145 1 537
6924772 165 | 22 | 1.1 53 54 3800 126.5 | 132 158.5 1210
6024727 120 180 | 28 | 2 88 80 3600 129 1345 | 171 5 2080
622477 215 | 40 | 2.1 155 131 2600 131 146 204 5290
632477 260 | 55 | 3 207 185 2200 133 161 247 2.5 12500
6926272 130 180 | 24 | 1.5 65 67.5 3400 138 144 172 1.5 1570
6026ZZ 200 | 33 | 2 106 101 3000 139 148.5 | 191 2 3260
6828 1751 18 | 11 38.5 48 3400 146.5 | 148.5 | 168.5 1 832
6928727 140 190 | 24 | 1.5 66.5 72 3200 148 153.5 | 182 1.5 1670
602822 210 | 33 | 2 110 109 2800 149 158.5 | 201 2 3480
683022 150 190 | 20 | 1.1 47.5 58.5 3200 156.5 | 160 183.5 1 1150
6930Z2Z 210 | 28 | 2 85 90.5 2600 159 166 201 2 3010
6032722 160| 240 | 38 | 2.1 137 135 2400 171 181.5 | 229 5150
6834727 170 215 | 22 | 1.1 60 75 2600 176.5 | 182 208.5 1 1860
604022 200| 310 | 51 2.1 207 226 1900 211 231.5 | 299 2 12000
Kgf=9.81N
= BH-6700ZZ-E o
) ZHADelivery
i) WANS | Grm — { 1o }
Bh 67002Z e QEF— 4 -

BIEERITE 680022 OAF= R B ERE AR




